
KT SERIES
USER MANUAL

Note: This manual supply with each enclosure.
1 1



 W 
 D 

 H
 

 D  W 

 H
 

KT SERIES

Note: Dimensions are for informaiton. Please check soft copy drawings.2 2



M5

M5x20

TOP COVER

x8

x82)

1)

Single
Door

Double
Door

x16

x16

Schrack Technik GmbH, AT-1230 Vienna, Seybelgasse 13: +43 1 86685-0,                                                                                                    www.schrack.com
3 3



M6x23

4)

M6

M5x10

REAR PANEL ASSEMBLY

1)

2)

3)

X8

X8

X16

X8

Schrack Technik GmbH, AT-1230 Vienna, Seybelgasse 13: +43 1 86685-0,                                                                                                    www.schrack.com
4 4



M6x23

4)

M6

M5x10

5)

x2
M6

DOUBLE DOOR REAR PANEL ASSEMBLY

1)

2)

3)

x10

x10

x20

x8

6)

x2

Schrack Technik GmbH, AT-1230 Vienna, Seybelgasse 13: +43 1 86685-0,                                                                                                    www.schrack.com
5 5



1 2

2)

x1

1)

x1

x2

3)

MOUNTING PLATE ASSEMBLY

Schrack Technik GmbH, AT-1230 Vienna, Seybelgasse 13: +43 1 86685-0,                                                                                                    www.schrack.com
6 6



5

1/2

6

5

3/4

7

x2
M8

6)

x1
1)

x12)

x13)

x14)

5) x10

M5x10

x27)

MOUNTING PLATE MOVEABLE POSITION

Schrack Technik GmbH, AT-1230 Vienna, Seybelgasse 13: +43 1 86685-0,                                                                                                    www.schrack.com
7 7



MOUNTING PLATE MOVEABLE POSITION

Schrack Technik GmbH, AT-1230 Vienna, Seybelgasse 13: +43 1 86685-0,                                                                                                    www.schrack.com
8 8



1

2

M8

1)

2)

x2

x2

MOUNTING PLATE MOVEABLE POSITION

Schrack Technik GmbH, AT-1230 Vienna, Seybelgasse 13: +43 1 86685-0,                                                                                                    www.schrack.com
9 9



4

1/2

5

3

x2
M8

5)

x1
1)

x12)

4) x4

M5x10

x23)

MOUNTING PLATE REAR FIXED POSITION

Schrack Technik GmbH, AT-1230 Vienna, Seybelgasse 13: +43 1 86685-0,                                                                                                    www.schrack.com
10 10



MOUNTING PLATE REAR FIXED POSITION

Schrack Technik GmbH, AT-1230 Vienna, Seybelgasse 13: +43 1 86685-0,                                                                                                    www.schrack.com
11 11



1

2

M8

1)

2)

x2

x2

MOUNTING PLATE REAR FIXED POSITION

Schrack Technik GmbH, AT-1230 Vienna, Seybelgasse 13: +43 1 86685-0,                                                                                                    www.schrack.com
12 12



Rear ViewRear View

DOOR ASSEMBLY

Schrack Technik GmbH, AT-1230 Vienna, Seybelgasse 13: +43 1 86685-0,                                                                                                    www.schrack.com
13 13



Rear ViewRear View

DOOR ASSEMBLY
 (DOUBLE DOOR)

Schrack Technik GmbH, AT-1230 Vienna, Seybelgasse 13: +43 1 86685-0,                                                                                                    www.schrack.com
14 14



1)

PLINTH ASSEMBLY
(Optional)

7

6 5

4

2

3

8

C

DETAY C

ÖLÇEK 1 : 10

DETAY D

ÖLÇEK 1 : 5

1 2

3

4
5

H

DETAY H

ÖLÇEK 1 : 13

I

DETAY I

ÖLÇEK 1 : 13

8

7

I

DETAY I

ÖLÇEK 1 : 10

DETAY J

ÖLÇEK 2 : 11

2)

3)

4)

5)

6)

7)

8)

M12

6

1515
Schrack Technik GmbH, AT-1230 Vienna, Seybelgasse 13: +43 1 86685-0,                                                                                                    www.schrack.com



x4

M12

M12

EYEBOLT ASSEMBLY
(Optional)

1)

2)
x4

Schrack Technik GmbH, AT-1230 Vienna, Seybelgasse 13: +43 1 86685-0,                                                                                                    www.schrack.com
16 16



 

 

 

>800   45 kg.
<800   60 kg. 

 50 kg.
  kg.

kg.

 

*By using plug-in rail brackets and scissile rails
inside the enclosure extra 500 Kg. can be loaded

 
 500 kg.
  

kg.

1000 kg

1000 kg

500 kg 500 kg

1000 kg1000 kg

2000 kg

2000 kg

500 kg
500 kg1000 kg

a

>800  45 kg.
<800  60 kg. 

kg.

kg.

20 kg.
  

1000 kg

IDEALα ≥  90°
MINα    ≥  75°

TRANSPORT INFORMATION

Schrack Technik GmbH, AT-1230 Vienna, Seybelgasse 13: +43 1 86685-0,                                                                                                    www.schrack.com
17 17


